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2 1
f= ¥+ Co (w)y—z
1
u = ngy + Ci(z) = + C2(y)
(2)
5o TP@yu=q(z,y)
RARH Y R0
u(e,y) e 17 [ e vady + (e
12.
M
(y+ 2)uz + (2 + @)uy + (z + y)u, =0
i AR RRNE].
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=y (22 -0yt a)
(2)
Yu, — Uy = ° — 3
AR
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BRERIRS
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TERME = 22 + 92, n = zy, KEIEE!
ou
n =1l=u=n+ f(&
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u=ay+ f(z® +y*)
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(M
{\/Eux+\/§uy+\/2uzz() z>0,y>0,z>0
u|a::1:y_z
FFESTE
a4y _a
NN

BRI MRIZRIEIR TR
VE-I=C T VE=C
Q%{%ﬁg = \/E - \/ya n= \/E - \/27 C =Y. H*EDE$§'H{:?3

a—cu =0
1SEERR
HANBFRFMF
FA—yml=yE) —y—z=(1— J—1)? = (1— 5 1)’
BEIEA
w=(VE—yT—1) — (VT — 7 1)
= 2(va 1) - (I +vAVE— yB)
=y—2-2(yZ - 1)(y¥ - V7)
14.
(2)
Ugz + 2Ugzy — 3Uyy =0
u(z,0) = 3z, u,(z,0) = 0
RSN
(0 +30y)(0r — Oy)u=0
ERT LS A

(9, +30,)v =0
{(am ~d)u=v
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u=f(z - y) +9(z+y)
EINUL I
{f(w) +g(z) = 32°
—3f'(@) +g(x)=0 = f(z) —3g(z) =C
RS
{f(:v) =3z +1c
glx) = J2* — 3C
1SR
u=q( 59 + 3@+ o)
2)
Ut — a2um
{ Uly_qp—g = P(T)
ul,_o = f(t)
Bz = LRSS, |,_, = (1), BEEEW®
R
u = h(z — at) + g(z + at)
NI
{h(O) + g(z +at) = p(z) = h(0) + g(2z) = p(z) = >0
h(—at) + g(at) = f(t) at >0
8%
{gw> p(32) —h(0) >0
h(z) = f(—=5) —g9(-2) = f(—=%) —e(—32) + h(0) =<0
L

u=h(zx—at)+g(r+at) z—at<0,z+at>0
- (:v+at at —x
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{g(w) = ¢(32) —h(0) =>0
h(z) = p(—3z) —a fy * F(€)d¢ —g(0)
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uy = a®ugz; t>0,z>0
u(t,0) =0,
u(0,z) = sinz, u (0, ) = k.
BH58u(0,z) = cosz, Wu =7?
fi:

BERR(t,0) = 0, FEHITHTER. TRFLRFMFBMETRE, EREHFNAANURATHERIR

u(t,z) = %[(I)(x _at) + ®(z + at)] + % / ia U (£)de
1 ) ) 1 T+at
= E[sm(x — at) + sin(z + at)] + e /xat kéde

=sinzcosat + kxt x>0

ERBFRFM (0, ) = cos z. i TREIFAIHTERRIBERIZRRIEu(t, 0) = 0, X T52iRkah75tE, ZHE
FMHE BT RN T R RE, XEARBURFMITR. BILCHTEER

cos T x>0
®(zx) =<0 z=0

—cosz =<0

[®(xz — at) + ®(z + at)] + % /ftat U(&)de

NCR I

u(t,z) =
BIIRFEXEr > 0AYEBBIRT

u(t,2) = 5 [2(c — at) + B(a + at)] + - / H:t U (¢)de

+[cos(z — at) + cos(z + at)] + 5 ffj;t kéd¢ x—at>0

% ;:Z: kede xz—at=0
1~ cos(z — at) + cos(z + at)] + = [T kéd¢ x—at <0
cos(z)cos(at) + kat z—at >0
kxt z—at=0

—sin(z) sin(at) + kxt = —at <0
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